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#include <iostream>
using namespace std;

void main()

{
int i,elem, n ;
cout << "What is n?\n" ;
cin > n ;
for (i =0, elem = 1; 1 <n ; i++)
{
elem = elem + 1 ;
cout << elem << " " ;
b
cout << "\n" ;
b

You can also write the for loop like this:
for (1 =0, elem = 1; 1 <n ; 1++, elem += 1)

{

cout << elem <<

a"n
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const int MAX_DIGITS_IN_INT = 10;

XP1197 DX 120D

void decimalLengths(int nums[], int size, int counts[]);
.(°21°11 0%w) S ze 19T IR 07210 017w 021901 YW NUMS TIvn v Nhapn moXpNoa
MAX_DIGITS_IN_INT+1 :X17°0°9:7 12713 counts 701 77vn noapn m¥ping 19 193
O 09D DR IR AR XPIT T TIvna
nuMS -1 0PN 1901 PR °>° counts[i] -v 7o counts T7¥na DR 1DTYN OXPNOT
NPy Moo 1 01 onw
NMR 77790 %12 AW NUMS -2 02190717 1901 X 2°2° counts[[1] %2
MDD °NW °12 2w NUMS -2 019077 1901 DR 2°3° counts[2]
.MMDD WY °12 0w NUMS -2 0*190%:7 1901 DX 2% counts[3]

SR T

:Mvn

.0 77w pR 70 oowh v counts[0] 2.1

.0°97211 220K 71939 PR 1907 HW MDD N2 .2

,10 07 %W 72°202 §NT 019707 S211 2w KW S90pnT NPIWYT Moo 1901 ,37 w3

27001 counts 7N YW 90°97 19T 197

AT
nX 1p7vn epnon decimalLengths([1,100,9,9,12,20009,78],7,counts) nxpa
.[0,3,2,1,0,1,0,0,0,0,0] :75 counts 77vn1
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void decimalLengths(int nums[], int size, int counts[])

{
int i ;

int num d ;

for (i = 0 ; i <= MAX DIGITS_IN_INT ; i++)
counts[i] = 0 ;

for (i =0 ; 1 <s

{

ize ; i++)

num_d = number_of _digits(nums[i]) ;

counts[num_d] ++ ;

int number_of _digits( int num)

{

int count ;

count = 0 ;
while(num > 0)
{

count++;

num = num / 10 ;
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int countLower(char* str);
,’MIvpi N1MIRA) lower case N1NIRT 1907 DR 77711 ,SEF NN v2Rd NYApn OXPNDT

DMnma (a-z

DIRANT
.6 1in countLower (""Good day'™) nxMpi
.0 7 1mn countLower (*"GOOD DAY'™) nx»pi

.1 2mnn countLower (53 & 4 + 3 Ay QI'") nxmpm
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int countLower(char *str)

{

int count ;

if (str[0] == "\0")

return O ;
else
{
count = countLower(str+l) ;
iIT ((str[0] >= "a") && (str[0] <= "z%))
count ++ ;
return count;
ks
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void getMinToStart(int numbers[], int n);

TIWN EPNDT (0210 OPW) NORTI DRI 2R 001000 YW numbers 7vn nhapn moXpon
aN12 uPa 0oRa IR 2% numbers[0] ,anx 702w 75 numbers 71Yna *12°KR 170 DX

SMYAYN R TIYN2 001907 RY 2w 1707 .numbers -2 0°190m7 1A

NINNNT
[-7,-3,5,-2,1,3,8,9] X177 *qwaK v ,numbers=[-3,5,-2,1,-7,8,9,3] 71wnn May

.[0,7,9,2,0,1] X171 woR w90 ,numbers=[7,9,2,0,0,1] 7wvnn May
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void getMinToStart(int numbers[], int n)

{
int temp;
if(n==1)
return ;
else
{

getMinToStart(number+1, n-1) ;
if (number[1] < number[0])

{
temp = numbers[0];
numbers[0] = numbers[1];
numbers[ 1] = temp;

}
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int setDiffSize(int A[], int nl, int B[], int n2);
(0211 2°12w) n2-1 N1 0273 NRY 25w 02501 YW B-1 A 0°37vn 1P nYapn mOXpon
2R% 9D 702 2OIMMR DOV TAR 932 221N 9D 1IN .NRNN

.B -2 2°R¥11 DRI A -2 DORYNI WK 222K D0 DR VIIY TRPN0T Y

AR QO NI ¥°9179 2120 RY 901 ,Wnn 71V 7702 2019100 BRI 2IIYNW N (ava

MIRDNT

2 -1-6, -5 omRw 10,3 inn setDiFfSize ([-6,-5,1,2,7],5, [1,3,7,8], 4) :Rmpn
.B -2 0oX¥n1 aPR IR A -2 DOREm)

Smn setDiffSize ([-6,-5,1,2,7],5, [-1,3,4,8,14,18,25], 7):n8pm

:mMAva

012K 712 71907 IR wP1ann D77 IR NITPW° TID07 IWOR NI NV OY 00121 QNN
DT 0 20K N0 MDA Tvn 5713 DR I 2°07vnn = R7aNakhi

n 9173 A-2 72°R7 OX LW 272K DR 1900 A1 ,B Sy OPTIR LA oy OPTIR :A7PW° 77°00
0P A-2 92K OX .D°ORTIRT AW DR DONTPA ,2NW 077 oX .B-2 0p71RT NR 2n7pn B-2 120Kn
177 DR 23 A-2 OPTIRIT NXR 7P B-2 12K 11

JA-2190W 2°12°KRT 1501 DR 1K 72012 TN LA *19% a1 B ox

:MXDI NPWY
(Y PPN aY 3"72) B 7791n2 190 120K 9 nwonm A IR DY nN2ww IR
79970 v 772 20 2 12 01 937 00 it — B 7vna a wnen c1 717

797770 Y121 77°n2 20 1 10 201 937 707 TIP3 — B 7vna RS wioon 2 717

A D72 9017 1Y Twn oY (370 RN TNR) M0 03 1

JMW IR DITAW 12K XYW 7Y B 2 0Reh won "on?" nmiavol

W T A VR IR 770070 ARIPAW 77091 1102 21722 MOV IR NN NYWA 1N0W 17
(MTIP3 2 N1 22 223797 28K 997 NTINT IPRD NMMYY) DK

1791 && PN || 2 WM IR DPTIR DITP YW NI O3 17
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int setDiffSize(int A[], int nl, int B[], int n2)
{

int indA, indB, count ;
indA = 0 ;
indB = 0 ;

count = 0 ;

while ((indA < nl) && (indB < n2))

{
it (A[indA] == B[indB])
{
indA++ ;
indB++ ;
3
else
{
it (A[indA] < B[indB])
{
count ++ ;
indA ++ ;
b
else
{ // A[indA] > B[indB]
indB++ ;
}
} 7/ else
} 7/ while

if (indA < nl)
count += (n1 — indA) ;

return (count) ;
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typedef struct point{
double x; /] X -1 227
doubley; /l'y -1 2097
}Point;

-1 (1.4,2.3) Swn? (0981 win °9173) 0°210 A9W 09277 MW oK DWRIT ¥°373 NRYAI 57IP1
¥°272 mkxn1 K2 (12.1,-12.1) -1 (0,0.9) ,(-3.4,4.0) %ar PwRIT ¥°272 mkxn1 (0.9,18.0)
JIWRAT

SAR2T TPXP5T DX 120D

int* pointsinQuadl(Point* pointsArr, int size, int& resSize);

(210 %) size W1 DR, MTP1 YW poINtSArT TIvn NYapn 7PN
MIRYAIT ,POINTSAKT -2 MTIPIT %5 YW 290RTIRT DX 27217 WD 7711 NIX™7 3OXP10n
UPD7 WNRIDL NIDTYA TPXPNDT D MWD .POINTSArKTr -2 Yo7 770 9% WK ¥0aMa

TINN TR YW 9TA R resSize

1979 NULL 2010 7°%p219:7 WK ¥°272 1°R pOINESArT -2 MTpan 90 oR:1vn

.0 777 DX resSize vhoi I3

IR LA
pointsInQuad1([(0.9,18.0), (0.0,0.9), (-3.4,4.0), (1.4,2.3), (12.1,-12.1)], 5, resSize)

2 7w nR resSize -2 197ym [0, 3] :77vn IR 0N
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int* pointsinQuadl(Point* pointsArr, iInt size, int& resSize)
{

int count ;

int i1 ;

int *resArr ;

int indres ;

for (i =0, count = 0 ; i < size ; i+t)

{
it ((pointsArr[i]-x > 0.0) &&
(pointsArr[i].y > 0.0))
count ++ ;
¥

if (count == 0)
return (NULL) ;

else
{
resSize = count ;
resArr = new int[resSize] ;
for (i = 0, indres =0 ; 1 < size ; iI+t+)
{
it ((pointsArr[i].-x > 0.0) &&
(pointsArr[i].y > 0.0))
{
resArr[indres] =1 ;
indres++
}
}
return (resArr) ;
}



